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OB AKE

L No FilE K4 FE  #8
1 1 EEmER B|H HA T3l LDoF 3 51.30
2 13 ERELEK =l X£=F &L HIE 1 46.25
3 201 EHIIHERR fERK BF x&E H3C 3 45.95

OB B E

L No FilE K4 FE  #H
1 1 EEmER HBH #A T3l LoF 3 13.60
2 8 BRI SR Fi N TIE 354 1 12.15
3 3 TEEmEK INLE G BOEE BUS 2 12.00

OB BHEVLETE

L No FilE K4 FE  #H
1 1 TEEmER HBH #A THLY LD= 3 11.20
2 201 EHIIHERR fERK WF x&E H3C 3 10.25
3 3 TEEmER INLE G BYEE BUS 2 9.95

OB &

EE No FilE K4 FE  #R
1 1 TEEEEKR BH #A T3l Lo=E 3 13.30
2 13 EEEIEHK HH X£F L #HT& 1 12.35
3 3 TEEmEK INLE FTA BOFEE BUA 2 12.25

OB i

EE No FilE K4 FE  #R
1 1 TEEEEKR BH #A T3l Lo=E 3 13.20
2 13 EEEIEHK HH X£F L #HT& 1 12.70
3 12 EEEIEHK k% =R LS5 HOE 1 12.50
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1 BB H # A 3 EETEER 13.60 1 11.20 1 13.30 1 13.20 1 51.30 1
p 2 ErKkK EBH | 3 EETEEH 9.60 15 6.75 14 6.60 18 9.75 11 32.70 15
3 INLUE f1TA 2 EETER 12.00 3 9.95 3 12.25 3 10.80 9 45.00 4
4 FH HgH 1 EETEER 9.40 17 0.00 21 8.75 11 8.45 16 26.60 18
5 W A fE 2 BEE S 11.20 9 7.25 13 8.30 13 11.10 8 37.85 10
6 B L ES 2 EEE SR 9.30 19 2.65 18 7.00 17 6.50 19 25.45 19
112 7 ErK BE 2 BREE S 9.05 20 1.30 19 5.50 20 5.05 20 20.90 20
8 ;oK B xE 1 EEE KR 12.15 2 9.00 6 11.00 6 12.20 4 44 .35 5
9 na &I 2 BREE S8 8.40 21 1.10 20 4.30 21 2.50 21 16.30 21
113 10 ®w K Y i 2 EEAESH 11.70 6 8.10 10 11.25 5 10.30 10 41.35 9
11 9B =15 1 EEdt =R 11.25 8 9.45 5 10.65 12.15 43.50 6
12| 6% = B 1 I =R 11.20 9 8.35 8 9.80 10 12.50 41.85
13 T H FE==E 1 EE AL S 11.60 7 9.60 4 12.35 2 12.70 2 46.25 2
16 | /#y ZRBB 2 — B IRER 9.90 13 7.30 12 6.50 19 9.50 13 33.20 13
i 17 X B P 2 —BEFREE 10.70 11 5.95 17 8.40 12 9.70 12 34.75 12
18| % F # 1 —BEF e 9.90 13 6.60 16 7.85 15 8.25 17 32.60 16
19 1k 7 K H 1 —BEFREE 9.55 16 6.75 14 7.35 16 8.75 15 32.40 17
201 B2 K #F 3 IRkt = 11.90 4 10.25 2 11.70 4 12.10 6 45.95
s 202 R E B £ 3 W R 11.80 5 8.65 7 10.65 7 12.00 7 43.10
14 D =k 2 EEAEHR 9.40 17 7.65 11 7.95 14 8.00 18 33.00 14
15| n® HE|I RSt 10.00 | 12 | 8.15 9 | 1010 | 9 | 935 | 14| 37.60 11
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OB AKE

L No FilE K4 FE  #8
1 101 EEFEREXE FE Ethd 5iE Ehh 49.10
2 103 FUOTHKIEIST Eik WA TS HTE 46.05
3 104 NLYrRKR—YHST /AR Y FIE Y 43.25

OB B E

L No FilE K4 FE  #H
1 101 EEREXZE FE ghd 5iE Hhn 12.65
2 103 FUOTKIEIST Bk e TNES HTE 12.30
3 104 NLYrRKR—YHST BmR Y FIE Y 11.80

OB BHEVLETE

L No FilE K4 FE  #H
1 101 EEREXZE FE ghd 5iE Hhh 11.55
2 103 FUOTHKIEIST Bk e TNES HTE 10.55
3 104 NLYrRKR—YHST /AR Y FIE Y 8.65

OB &

EE No FilE K4 FE  #R
1 101 EEREXZE FE 51E Hhh 12.20
2 104 NLYRRKR—YHST /AR Y FIE Y 11.30
3 103 FUOTKIEIST Bk Inds TWES HTE 11.10

OB i

EE No FilE K4 FE  #R
1 101 EEREXZE FE 51E Hhh 12.70
2 103 FOTKIEIST Bk Inds TWES HTE 12.10
3 104 NLYRRKR—YHST /AR Y FIE Y 11.50
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WM No.| R &g moo R BE | EE| B & Bk B & |[Ee] B & |Ee] & & | Bk
101 F& #hH EERREXE 12.65 1 11.55 1 12.20 1 12.70 1 49.10 1
e 102 /&8 BE BERE K 0.00 4 0.00 4 0.00 4 0.00 4 0.00 4
103| E ik I HF TOTKRIESGSD 12.30 2 10.55 2 11.10 3 12.10 2 46.05 2
104 &% K Y & INLYRAR—YH5T 11.80 3 8.65 3 11.30 2 11.50 3 43.25 3
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L No FilE K4 FE  #8
1 9 EMPEREK BiE £ t=mEL vUE 2 72.55
2 5 BRIt L5 b EA DD (& 3 65.00
3 14 BEXLEER BfE L feEL BLVE 1 57.10

OB

L No FilE K4 FE  #H
1 9 EMPREK BiE & t=mEL vUE 2 12.80
2 1 BE [ m S A fERK Kk TEE fLEW 3 11.50
3 5 BRIt L5 i EA MDD (& 3 11.35

OB HAE

L No FilE K4 FE  #H
1 9 EMPREK BiE & t=mEL vUE 2 12.30
2 201 EEHdER FE D LIE A 3 11.10
3 5 BRIt L& i EA MDD (F40& 3 10.80

OB oV

EE No FilE K4 FE  #R
1 5 BRIt L& i EA MDD (F40& 3 10.40
1 9 B h R SR BiE & f=mEL vUE 2 10.40
3 2 EEEER i &K EB W51 3 9.40

OB BtE

EE No FilE K4 FE  #R
1 9 B th RS BiE & t=mEL vUE 2 12.70
2 5 BRIt L& hF EA MDD (F40& 3 12.40
3 14 EBEXlEEak BiE B4 E=AEL BLvE 1 11.30

OEHM T7#

L No FilE K4 FE  #R
1 9 B h RS BiE & t=mEL vUE 2 11.85
2 5 BRIt LEHK hF EA MDD (F40& 3 10.25
3 201  BEHdhisags FE D LiE 223 3 10.00

OEBA #iF

L No FilE K4 2E  #R
1 9 B h RS BiE & t=mFEL vUE 2 12.50
2 201  BEHdhisags FE D LiE 223 3 10.90
3 5 BRIt LEHK hF EA MDD (F40& 3 9.80
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1 ERrK KK 3 BE M = A% 11.50 | 2 8.15 8 8.30 51 10.90 | 4 8.70 8 4.00 7 51.55 7
ey 2 FH ot & XK 3 % [ B = A% 9.35 9 6.90 9 9.40 3] 10.20 | 6 9.00 6 4.00 7 48.85 8
3 = B %0 & 2 EEE SR 290 |14| 3.80 (11| 3.60 |11] 10.00 | 7 4.00 (11| 2.30 12| 26.60 11
4 I X B 2 B E 9.15 |10| 4.05 |10| 7.50 91 10.00 | 7 4.10 |10| 3.60 9 38.40 10
5 bR E A 3 EXtEEKR 11.35 | 3| 10.80 | 3] 1040 | 1| 12.40 | 2| 10.25 | 2 9.80 3 65.00 2
iy 6 ot FE o 2 EXltEEK 9.90 7 9.10 5 8.60 4 9.90 9 9.50 4 4.60 6 51.60 6
14| 5 # 3 4 1 EXIEER 11.10 | 4 8.80 6 8.00 6| 11.30 | 3 9.30 5 8.60 4 57.10 3
8 B 1R 5 B 1 BRIt EEHK 10.15 | 6 9.90 4 7.80 8 9.30 |13| 8.75 7 7.50 5 53.40 5
9 E B & 2 BEhR SR 1280 (1| 1230 1| 1040 | 1| 12.70 (1| 11.85 (1| 12.50 (1 72.55 1
il a 10 BE 7B 1= 1 EFER 790 |11 3.50 (12| 0.90 |14| 9.50 |12 1.60 (14]) 2.90 |11 26.30 12
11 * 2 B i 3 EEdt =R 4,50 (12| 2.00 |14 2.10 |13| 9.10 [14| 3.40 12| 2.00 [13| 23.10 14
12| 8 K B X 3 BEFE b =% 4.10 13| 2.90 |13| 2.40 (12| 9.60 |11] 3.20 |13| 2.00 [13] 24.20 13
13 B E b 1 Bt EE# 10.30 | 5 8.80 6 8.00 6 9.85 |10| 4.95 9 3.60 9 45.50 9
114 7 IR & £ & 1 BEXtLE# 0.00 |15/ 0.00 (15| 0.00 |15| 0.00 |15 0.00 (15 0.00 |15 0.00 15
201 F+ = i 3 #8 4 chehis 9.50 81 11.10 | 2 3.90 (10| 10.60 [ 5| 10.00 | 3| 10.90 | 2 56.00 4
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L No FilE@ K4 FE  #8
1 101 fhEXRE ER Ki THhbhD b 4 80.25
2 102 EH@EKF ERK #HE EE FIAH 3 79.65
3 103 HBEKXZFE “FEE K [ZHNES 5% 1 72.60

OB

L No FilE@ K4 FE  #H
1 102 HEXZE ERK #%hiE IxE FIb 3 13.75
2 101  {LlEXE ER Ki THbhD b 4 13.50
3 103 HEBEKXZFE “FEE @K [ZHNES 5% 1 11.60

OB HAE

L No FilE@ K4 FE  #H
1 101 fhEXRE ER Ki THbhD Eivb 4 13.80
2 102 EH@EKF ERK #HE &E FIAH 3 13.00
3 106 EEXFE FE M BE HES 1 11.00

OB oV

EE No FilE K4 FE  #R
1 102 EH@EXKF ERK #HE EE FIAB 3 13.00
2 101 {LEXRE ER Ki THbhDS b 4 12.40
3 103 EHiEKF “fEE Wk [ZHLES 54 1 12.20

OB BtE

EE No FilE K4 FE  #R
1 103 HBEKXFE “FEE @K [ZHLES F54% 1 13.70
2 101 {LEXRE ER Ki THbhDS b 4 13.60
3 102 EHEKF ERK #HE &E FIAB 3 13.00

OmEB A 1T

L No FilE K4 FE  #R
1 101 {LEXRE ER Ki THbhS b 4 13.95
2 102 HEKXZE ERK #%hiE IxE FIH 3 13.70
3 103 HEKEFE “EE @& [ZHLES F54% 1 11.90

OEBA #iF

L No FilE K4 2E  #R
1 102 HEKXZE ERK #%hiE IxE FIH 3 13.20
2 101 {LEXRE ER Ki THbhS s 4 13.00
3 103 HEKEFE “EE @K [ZHLES F54% 1 12.70
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101f E®m KX 4 = N== 13.50 [ 2| 13.80 | 1] 1240 | 2| 13.60 | 2] 13.95 | 1| 13.00 | 2 80.25 1
1151102 A4 K #hE 3 HiEKE 13.75 |1 13.00 | 2] 13.00 |1 13.00 [ 3| 13.70 | 2| 13.20 | 1 79.65 2
103| —E=®E @ 1 HiEKE 11.60 | 3| 1050 | 4| 12.20 | 3| 13.70 (1| 11.90 | 3| 12.70 | 3 72.60 3
104 Z = 1 EHEKE 11.20 | 5 6.60 6| 10.70 14| 11.60 | 5] 10.40 | 4 9.70 4 60.20 5
1161105 {F @& BE = 1 EHKRE 11.10 | 6 8.40 5 9.60 6] 11.20 | 6| 10.25 | 5 9.00 5 59.55 6
106 ¥+ = H 1 HEKRE 11,50 4| 11.00 | 3| 1040 | 5] 12.00 | 4| 10.20 | 6 9.00 5 64.10 4
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